Контрольная работа по английскому языку для 11 класса.
	Установите соответствие между заголовками A-F и текстами 1-5. Занесите свои ответы в таблицу. Используйте каждую букву только один раз. В задании один заголовок лишний.  


A. Disappeared people

B. Depending on the weather

C. Organizing people in case of emergency

D. A dangerous street accident
E. Protection from flood

F. Emergency exits are to be done.

1. It took many hours for workers to shut the water off when a large water pipe broke. Water gushed out of it. The streets flooded. The water pipe that broke was underground. The pressure from the water coming out of the pipe broke the street. The street fell into a huge hole. This break caused a lot of damage. One woman` s car flooded. It had four inches of water in it. There was a lot of work to be done.

2. Firefighters hope to have control of a big fire by Friday. It has already burnt a lot of land. Firefighters worked all night, their hard work saved a lot of land. Now firefighters are worried. The wind is starting to blow. They think that the winds could fan the flames again. When wind fans a flame, it helps the fire grow. This would be very bad. The firefighters are hoping that the winds do not get any stronger.

3. There was a fire that burnt a house down. The local police are trying to find out how it started. There was a man and three children who are missing. No one knows what happened to them. The mother of the missing children could not find them. She did not know if they were in the home before it burnt. She has not seen the father of her children since the fire. The police are not sure how the fire started. There is nothing that shows that fire was started on purpose but the police want to make sure.

4. In spring, heavy rains and melting snow add a lot of water to the lake behind Folsom Dam. People believe too much water could breach the dam. Then the dam might break and flood the towns below the lake. A flood would be very dangerous for the people who live near the dam. They need to find a solution and a way to keep the nearby towns safe. Senator Deborah Ortiz has an idea that might help. She wants to ask the State of California for funds to make the Folsom Dam seven feet taller.

5. Mr. Baldwin believes the way California handles disasters is a good one. People need to know when there is an emergency. They need to be warned. People can be given warnings over the radio. They are also warned over the television. Mr. Baldwin also says that more work needs to be done in an emergency. One thing he is worried about is how to evacuate people from towns. People need to know where to go if they have to leave their homes.
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	Прочитайте текст и заполните пропуски 1-6 частями предложений, обозначенными буквами A-G. Одна из частей в списке A-G лишняя. Занесите букву, обозначающую соответствующую часть предложения, в таблицу.   


Once the child has reached school age, most women in Britain work part time, 1_______. However, this is not always possible for women who want a career. Recently  2 ______ on the Government to provide more money for state day nurseries, and on employers to establish crèches in the workplace. 

 Although there is a greater acceptance of men 3 _______, studies show that men` s and women` s roles have not changed as much as could be expected. In most families working women are still mothers, 4 _______. Because of the difficulties of combining the mother role with the demands of a career, women` s work tends to be low-paid and irregular.

In the past, families tended to stay together. They felt it was their duty to do this and that marriage was for life. Divorce was not socially acceptable. Legal changes have made it 5 _______. Another possible reason behind the rise in the divorce is the changing attitude to marriage itself. Perhaps the people most affected by a divorce 6 ________.

A. housekeepers and income providers

B. much easier to get a divorce

C. there has been increasing pressure

D. are the children

E. to live together before they are married

F. to fit in with school hours

G. taking more of an interest in child care and domestic duties
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